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Primary 1 Second Term Test
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Boris and his sister decide to buy
an English dictionary.

‘It refers to the dictionary Boris
and his sister buy. / 'It" refers to
‘Student English Dictionary’.

Boris and his sister think that the
dictionary is useful because there
are many sample sentences for
each word.

No, they are not.
Alphabetical (order).

Letter *a’.

Copy it down in a notebook.

There is an elephant in the zoo.
What colour is his pen?

on
under

under

The
the

The
an

The

The dress is red and yellow.
Alvin can see a bee and a butterfly.
Lily and Mary are baking cookies.
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are swimming
drink

studies

is playing
likes

is talking

I@reoding a book now. : am
Mary has a pen.@ pen is blue.
; Her

mony monkeys are

there? : How

There is a planethe sky. :in
v

How many dogs are there?
What is his name?

What are you doing? / What are
you reading?

What colour is Henry’s hat?
What can you see?
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Primary 2 Second Term Test
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Owils’ eyes face forwards.
‘Nocturnal’ means being active
during the night and sleep during
the day.

Owls rely on good hearing and
eyesight to catch preys.

Yes, it is.
Bird B.
Bird C.

(A) parrot.

What is the weather like in Tokyo?
May I play computer games for
fifteen minutes?

may
can
may
must
Can

He
They
his
Her
They

I play basketball at a quarter past
twelve.

I do my homework at five o’clock.
I watch TV at a quarter to nine.
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On

by

in

At
during
from

gets

are swimming

Does ; work

is not doing / isn't doing
has

The time now is half ten. :

past

Mary has a brother. name is
Julian. ; His

Joand Iploying happily in
the playground. ; are

N4
Some animals hibernate(on)
winter. : in

I am not playing computer games.
Is Anson playing the guitar?

Alvin and Billy are going to the
shopping mall.
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Primary 3 First Term Test
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The jellyfish looked like a floating
rainbow.

A transparent tunnel went through
the middle of the second tank.
‘My’ father did not buy a souvenir.

(A) factory building.
Yes, there is.

(The) corals.

9:00 p.m.

me
him
us
them
her
you

all

A lot of
Some
any

in front of
next to
behind
between

Daisy eats too many sweets, so
she has a toothache.

The weather is fine, so we go
picnicking.
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went
brought
bought
wrote
liked
played
sang
ate

left

. took

He the movie yesterday.

: watched
v
Mum makes me fried eggs
sausages for breakfast. : and
Can you pass @ some salt
please? : me
I often listen music at night.
i to

He gives him a toy car.
She gives them a trophy.
They give her some ice cream.
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1. (a E: ¢h@m
(b)y A: B
(¢c) D; F

2. (a3
(b) 2

(n)

1. ArF-H

2. B-D'G

(h)
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2. (a) + :80
b T:0
3. (@R
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4. (a) 2059
b) L FANBE+=
(m)
1. (a) 159:9
(b) 29 : 4
2. (a) 388.50
(b)

1. (a) 210
(b) 1000
(©3
(d) 14: 8

(7%)

1. 90

2. 20

(£)
1. 421
2. 299
3. 197
4. 180
5
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1. 446 + 446 — 49
— 892 — 49
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=632 — 126
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6. 247 — 193 + 78
=54+ 78
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